EJCERR

J235M-NMU/NMR

AN LA BTN T B AR

TE51-2404 H#ETARSFEITSEE 53 4
TEL 078 (967) 1481
FAX 078 (967) 3090

el

AEERFIUEEE T EOMEBRETT,
AE&IE 2014 £ 108 1 B LYBEAWLETS, FBEREALERICREXODARERELLES,)
EREENILRFEEESTD-0 . KERRICEH N TOWIABRUVRBICTITEXT LY,
EEITUYERDEDONI-REDHHRIT ML, ERUINDO=HBHREITEULE T EEET,
¥ =L, HRERRNTH > THEHESRICDEEL T, MBIHEC DV TITHHRSBETLEEUEAEHY
E3r 2
HIAAIEOBEARE. RAIMICIK, LROEBYRBERIN TR T LETH., HIBFERZBH%KT
HOTHLHRIBHROCEEBENH-IHAIZIE. MBS KGR IC OV TTHHKSE T EEET,
kDR A
il R U, BifEOERITES CIIEan-LET A,
g Bl THEW-LEEA,
| [HHERICHERAET, TOEKORHLYICHBT 26" HYTET,
3 (KF)T7vt 7 IES
Twi TwtlTUEL
SW INTEE
W FREE
AJ FovAAR
SP A JLsS
PK RNy FoRIEHRTY B

RILE ARARILE

F OBHESKCOVWTHKIERSERESBLTTSIL, BLERICOVTEEHLEDLE (&L,

AERTHBRDE=OFEL RBRUEBAEDLLZENHY FT,




NMU/NMR




3L — J235M-NMU/NMR

B & mE B4 E%| il H&E mE i B Al
1| 3421-11000| |¥¥7—AT7vyy (E#AEIHN) CREN{T) 1 4-2 | 3421-24120 | |Tvia A(#ETIN) 1
1-1 | 3421-11170 | % | ¥ v Ik (f#8T1h) 1 4-3 | 3421-24130 | |Jwia B({tAtIh) 1
1-2 | 3421-11160 | % | "R LY (L TIN) 1 4-4 | 3421-24140 | |M/2.3X8 ZYELRH 1 (ftidtIh) | 8
1-3 | 3421-11150 | % |E=A> XY (8 51Nn) 1 4-5 | 3421-24150 | |RIP+v/ 57w L245 #HiETIh 1
1-4 | 0311-26000 | 3 6000 2NS 7Y 4 1 4-6 | 3421-24160 | |0 Y2 P15) I 1
1-5 | 0311-00626 | % 626 X724 1
1-6 | 0311-30609 | ¥ |609 Z X714’ 1 5-1 | 3421-25110 | |RTZLFS ¥ TR0 7 (60) (#8814 1
1-7 | 0212-02612 | % |R-26 R+ v T4 1 5-2 | 3421-25210 | |RTULT (Ht#AEIh) 1
1-8 | 0212-02412 | % |R-24 R+ T4 1 5-3 | 1135-14170 | |RS ATy v (HEYIH) 2
1-9 [ 0211-00910 | % |S-9 Ry TYL s 1
1-10| 0121-00608 | % |M6 x 87X H b 1 6 | 3335-22100 UNUN LT F9k Ty (3%4) 1
1-11| 0122-00410 | 3% |M4X10 +F74F A FFK Wb 1 6-1 | 3348-22111 | %|IS4 vk Lt 1
1-12| 0126-00520 | 3 |M5X20 XA 7F7R)L b 1 6-2 | 3335-22121 | % | IS4 vk & 1
1-13| 3421-11210 | % | AZ£E 1 6-3 | 3335-22130 | % |IS4wk T 1
1-14| 3421-11220 | % | AWz £ E 1 6-4 | 3353-00525 | % |M5x 25 REAIMARILL 6
1-15| 3347-11231 | % M7 E& b SW 1 6-5 | 3335-22140 | |FL—k(d26) 2
1-16| 3347-11240 | % |7mm SWXE 1
1-17| 0126-10510 | % |M5X10 /<A IFRILE 1 7 | 3355-22140 UnUM LB F(UT) %A 1
7-1 | 3355-22222 | % |UnyM LAEUT UW) 1
2-1| 3421-12110 | |AIZE4S—X A(iE#ATIN) 1 7-2 | 3355-22331 | % | 5T Uy 1
2-2 | 0126-00510 | |M5X107XFIAFARILE 3 7-3 | 3355-22342 | ¥ [/\UR )Ly FEH) 1
2-3 | 3421-12210 | |AIZE4S—X B(it#atIh) 1 7-4 | 7020-22410 | |AAvkILL/S— L1100 1
2-4 | 3421-12220 | |BRfHRILE (A EIH) 1 7-5 | 3429-22520 | |ROYRILTA¥(72x970) 1
2-5 | 3421-12230 | |M8 FETviv (#t#AtIh) 1 7-6 | 3355-27320 | |3 —FFa—T 7x500 1
2-6 | 3421-12240 | |M6 FETvi v (##aLIh) 1 7-7 | 3355-31210 | |[3—K/\UK 1
2-7 | 3421-12250 | |M6 Fvk 1
2-8 | 1128-00522 | |M5x 22 RATATARILE 1
2-9 | 3421-12310 | |AIES—RON—(H#H#EETH) 1 8 | 3355-22130 | |UnyFILZEILFUT XA 1
2-10| 0111-20516 M5 X 16 X41)2 SW, W 2 8-1 | 3355-22210 | % |U/\>VFILE 1
2-11| 3421-12410 | | T—Y (#t#AE1h) 1 8-2 | 3355-22320 | % |&ES VT 1
2-12| 3421-50512 | [M5X12 R9'J1 W 2
2-13| 3421-12420 | | —IL(##A851h) 1 9 | 3355-27310| |A)LH—kFa—T 7x200 1
3-1]3425-21110 | |AMyn'{7’NM/U 1 10-1| 3347-22210 | |BFVvF(any-m) 1
3-1]3426-21110 | |AMUN'{7'NM/R 1 10-2 | 3347-22320 | |FYvTINUR 2
3-2 | 3421-26110 | |AIZESUvT (f#aTTh) 1
3-3 | 3421-26120 | |RFULH (H#ETIN) 2 11 | 3354-22300 | |[L=7"nUNNTyY (%AT) 1
3-4 | 3421-26130 | |R&Ya(E#ETIN) 2 11-1| 3354-22310 | 3% [ )L—F /AR L 1
3-5 | 3421-26140 | |R—JL (HE#aEIN) 2 11-2 | 3354-22320 | % |IL—FN\URLF vy T 1
3-6 | 3421-26210 | |R/SASIL/AT (#HA4EIN) 1 11-3| 0111-40530 | % |[M5X 30 X' W 4
3-7 | 3421-26220 | |tvhRILL(HEHEEIN) 2 11-4| 0161-00540 | 3 M5 Fwb 4
3-8 | 3421-26230 | |>—/L (f#t#AL1H) 1
3-9 | 3421-26310 | |RR—H ({#t#4¥0h) 1 12-1| 7020-22411 Z0YkLL7A—(400mm) 1
3-10| 3421-26320 g (#HEh) 1 12-2 | 3431-22521 ABYLT AN (420X70) 1
3-11| 3421-26330 | |57 (ft#atIn) 1
3-12| 0111-20516 | |M5Xx 16 R%71J1 SW, W 2 13 | 3353-21200 | |[/N\UATYY (KA) 1
3-13 | 1443-20520 M5%x20 A% SW W 1 13-1| 3353-21210 | 3% [/\>AHULY 1
13-2 | 3353-21230 | % |9 wFIRUR 1
13-3| 1443-20520 | % |[M5%x20 R SW W 1
4-1| 3421-24110 | |4>F 7847 NM/U L1230 (880 | 1 13-4 | 0161-00540 | 3 |M5 Fvk 1
4-1 | 3422-24110 | |A4>F/347 NM/R L1230° (##a81h) 1




< 3)LA— J235M-NMU/NMR

S mE EIRE %) (@& S an s E%| (@
14 | 3353-93202 | |t7747°L—hPyy CKENfT) 1
14-1| 3353-93212 | ¢ |[ £ 7 T4FL—k 1
14-2| 3347-93232 | % | FL—rFRIL 1
14-3 | 3353-93230 | % | RR—H (fit#A¥1hH) 1
14-4| 0122-30615 | 3% |M6 X 15+ 5T /A AR ILESW, W 2
3353-93422 | |SaH—INURTYY 1
3364-91140 | |13-19 ARy S RLUF(+) 1
3347-91140 | |@OR/SF  8-10 1
5111-91180 | |4mm AEHELF 1
3112-93430 | |E—/—45UZR 1
3123-91162 | |/8—vi 1
3123-93411 |  |7BEEFAN—(HR) 1
3123-93451 | |T—HF L (FHH8(T) 1
3112-92331 | |AJLMYH 255 % 40PF5 A(OEM) 1
3127-99110 HAEE BRI (ftatih)| 1
3425-94100 | | EIXASNIL NM (HEEIH) 1
3911-94001 | [FESAL 1
3421-94170 |  |BEXIS—IL 1




J235M




3)LF — J235M-NMU/NMR

®E B e E| @ ®E mE MEA = i
1-1 | 1443-11110 | |Uv% 1 5 | 1442-41001 a1 ILASSY GKEN{T) 1
1-2 [ 1423-11120 | |[SULEH RSk 1 5-1 | 1442-41110 | % | R4—445—2R 1
1-3 | 0126-00516 | |M5X16 AFITARILE 4 5-2 | 1311-41120 | % | R/84S5)LSP 1
1-4 | 1423-11180 | | RZYKARILMM5X50) 2 5-3 | 1445-41171 | % |[—LT v 1
1-5 | 1437-11140 | |42 aL—42CKEIf) 1 5-4 | 1443-41180 | % | 77— 1
1-6 | 1423-11130 | 3| 1222 L—4PK 1 5-5 | 1443-41260 | % |92 1
1-7 | 1431-11150 | 3 | ¥+ TL4PK B 1 5-6 | 1443-41210 | % | R4—40—7 1
1-8 | 1443-20520 | |M5x20 R%'YJx SW W 2 5-7 | 1331-41220 | % | R4—%/7 1
1-9 | 1439-12110| |%75 1 5-8 | 1443-42110 | |R4—4F—1) 1
1-10| 1439-12130 | |R¥TI5PK 1 59 | 133131120 | |959FW  8m/m 1
1-11] 1321-12170 | M55 F vk 2 5-10| 1423-20516 | |5x16 R¥Yx SW W 1
1-12| 1439-12150 | |[M5x 10 AyEV RS2 1 5-11| 1443-20525 | |M5x25 Z%')1 SW W 1
1-13| 1443-13110 | |2U2FH— 1 5-12| 1442-94100 | (a4 1
1-14| 0111-30520 | |M5x20 X411 SW, W X 1 5-13| 1437-53610 | |REESHETY 1
1-15| 1439-13130 | |Tvix 1 5-14| 1443-42220 |  |YaAILEESNIL 1
1-16 | 1443-20520 | |M5%20 R SW W 1
1-17| 1439-14130 | |[ERb> 1
1-18| 1439-14110 | |EXb2N2 S (#0) 1
1-19] 1321-14140 | |[EXL2EY 1 6 | 1451-51000 | |#RFATHASSY 1
1-20| 1321-14150 | |RFvTUYLTERMEY 2 6-1 | 1437-51100 | % | 2> 0¥ vv T 7o 1
1-21| 4148-14140 | | R7YLTERRUEY 1 6-2 | 1437-51350 | % |7 AAYN(3YIN) 1
6-3 | 1423-51340 | ¢ | BT Lrk— R 1
6-4 | 4145-51400 | 3 |BA¥I DL 1
2-1| 1439-21110 | |95> 97— Ffil 1 6-5 | 1326-51440 | % |Twvia 1
2-2 | 1439-21120 | |95>94—Z RHI 1 6-6 | 1439-52140 | % |\)2—> /317 (80) 1
2-3 | 1423-21180 | |#VTILEY (95095-R) 2 6-7 | 1437-51380 | % | T —H/(7(100) 1
2-4 | 1436-10525 | |M5X25 R4")2 SW 3 6-8 | 1437-51390 | x| J—4 1
2-5 | 1439-06000 | |6000 X7 2 6-9 | 1321-52150 | ¥ [/XA(F oy T 1
2-6 | 1439-24170 | |A AL —IL 2 6-10| 1439-52150 | |ToP v REAUR 1
2-7 | 1439-22110 | |95> 9 %obhavT 1 6-11| 1439-52160 | |/Svk 3
6-12| 1439-52170 | |M5x20 #yEU RS2 3
3 | 1427-31100 | |95y FASSY CKENMT) 1
3-1| 1427-31110 | % |75y F L a (ft#aTh) 2
3-2 | 1321-31140 | % |95y FSP 1 7-1 | 1443-23200 | |/N\9SUHTvL (HATINR) 1
3-3 | 1427-31130 | |95y FHRILE 2 7-2 | 0126-00520 | [M5X20 /N FE AL+ 1
3-4 | 1423-31150 | |8mm z—7J W 2 7-3 | 0111-10512 | |M5X12 R%')= SW 1
3-5 | 1423-31120 | |6mm Z5vF W 2 7-4 | 1471-23240 | |[M5X18/XA T4V A2 4
7-5 | 1439-36120 | |3—KH¥5>7 1
4-1| 1439-32110| |B—% 1
4-2 | 1439-32310 | |M6 Fwh 1
4-3 | 1443-32140 |  |[45"=y¥avaqh GXEN{T) 1
4-4 | 1333-34120 | % | TS5 % vvT 1
4-5 | 1439-35120 | |U—K7A+ 1
4-6 | 1423-34140 | |Z'Atyk 1
4-7 | 1439-30416 | |M4X16 X' SW, W 2
4-8 | 1331-34110 | |H:XTFS%5 BMS6A 1




J235M




< 3)LA — J235M-NMU/NMR

S mE &4 E%| (@ X% mE i Bz (@
8 | 1439-53000 | |¥¥7'LAASSY (KEN{T) 1
8-1 | 1433-53120 | % |FS4 b 1
8-2 | 1435-53140 | % | 7S+ RFR41a 1
8-3 | 1326-53130 | % |AJ Fwbk 1
8-4 | 1425-00310 | % |3x 10R%Yx TS4 vk 2
8-5 | 1439-53210 | % | RAYRML/NILT 1
8-6 | 1326-53190 | % | T/ ¥ RIS (RAX)L) 1
8-7 | 1433-53230 | % |Tviv 1
8-8 | 1326-53220 | % |97 1
8-9 | 1421-53460 | % | \f RE—RK=—F L 1
8-10| 1421-53470 | % RTYLH NARE—F 1
8-11| 1421-53480 | % |Tvivy =—KJL 1
8-12| 1421-53490 | % |02 =——FKjL 1
8-13| 1326-53270 | % | AR TL AV IS5 L 1
8-14| 1326-53260 | % |;R>TPK 1
8-15| 1423-53320 | % |#°v7'K'T1ASSY (OFN{t) 1
8-16| 1326-53410 | O |=—KJL/\LT 1
8-17| 1326-53310 | 0 | RY—2iko T 1
8-18| 1423-53420 | O |E> TSP 1
8-19| 1326-53430 | O |L/N\—EVT 1
8-20| 1326-53440 | O |E> £V 1
8-21| 1326-53450 | O | RV 2V SEY 1
8-22| 1326-53351 | % | ¥ (VIS LR T« 1
8-23| 1326-53340 | % |4 A ¥ TTLA— 1
8-24| 1326-53331 | ¥ | A—> & (¥ IS5 LPK 1
8-25| 1326-53360 | % | FS5A<R T 1
8-26 | 1326-53371 | % | AN—FS5ATRL T 1
8-27 | 1425-00324 | % |M3X24 ZH')2 4
8-28 | 1326-53390 | % |/Sv¥> (FHF) 1
9-1 | 1437-54140 | |9)—FH—R 1
9-2 | 1326-54150 | |FS4 vk 1
9-3 | 0111-20550 | [M5X50 X%'Jx SW, W 2
9-4 | 1423-54130 | |9)—FIL Ak 1
9-5 | 1442-54110 | |9)—+hn'—CKENfT) 1
9-6 | 1428-54280 | x |04 (fit#aEIh) 1
9-7 | 0111-30512 | % [M5X 12 R%')1 SW, W 1
9-8 | 1437-54170 | % | tABISRIL 1




